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[m/s] [m/s] [C] [C] [C] [%] [%] [%] [%] [hPa] | [hPa] [mm] [ mm] [mm]

01 2.2 Jta 9.0 Jria 5.9 10.1 2.2 67.8 89.7 45.0 70.6( 1009.6| 1023.8 0.0 0.0 0.0 & i =
02 2.3 | if) 11.6| dkdkia 4.9 8.9 0.5 69.2 97.5 39.4 70.1( 1008.3| 1022.6 0.0 0.0 0.0 & i i
03 2.0 Juia 11.9 bl i 3.6 8.7 0.0 64.0 85.8 39.4 68.2( 1007.5| 1021.9 0.0 0.0 0.0 & i i
04 1.7 #adkvE 8.6| radkvE 3.5 6.8 0.3 80.5 94.7 62.2 71.8( 1007.8| 1022.1 0.0 0.0 0.0 i~ = =
05 2.2 Jtva 11.3 bl i 3.3 8.5 -1.3 63.3 94.9 34.9 69.2( 1011.2| 1025.6 0.0 0.0 0.0 = i i
06 1.3| #adkvE 6.3| FadkvE 4.5 9.9 0.9 64.8 82.7 43.0 67.8( 1007.8| 1022.1 0.0 0.0 0.0 i~ i i
07 1.3 Hik= 5.6| /adkve 4.5 10.0 -0.2 70.4 90.0 40.0 68.5( 1000.7| 1014.9 0.0 0.0 0.0 & i i
08 1.7 #adkvE 8.0| FadkvE 5.6 11.5 -0.5 70.8 9.1 46.9 69.1( 1006.9| 1021.1 0.0 0.0 0.0 = I i
09 1.2 WiL= 5.6 bl i 6.6 11.2 1.6 67.7 96.9 47.4 68.6( 1006.8| 1021.0 0.0 0.0 0.0 1= i 56
10 4.5 | it 16.3| dkdkia 4.6 7.8 1.8 55.5 97.5 28.8 64.7( 1008.8| 1023.1 0.0 0.0 0.0 = I i
11 1.4 ®IL= 5.7 HALE 4.2 11.4 -1.6 47.5 66.6 26.3 59.5( 1011.9]| 1026.2 0.0 0.0 0.0 1= i 5
12 1.3 FILHE 6.1| HALE 6.2 14.0 -0.7 48.6 71.1 25.8 56.2( 1011.9| 1026.2 0.0 0.0 0.0 = i i
13 1.1 ®ik= 6.4 HEIH 8.4 14.0 2.1 58.1 97.4 34.9 56.7( 1008.1| 1022.2 1.0 3.0 6.5 i = 8]
14 1.0 Jk 6.4 JkvE 11.1 13.1 8.8 97.0 97.5 93.0 68.71 996.5| 1010.3 1.0 2.5 15.5 5§ 55 i
15 1.3| dtdkvs 5.2 ik 10.1 14.3 6.4 79.5 97.4 47.5 71.9]1 996.2] 1010.1 0.0 0.0 0.0 i = 5]
16 2.2| Jedkvs 12.1| Jkdkvs 8.2 11.5 3.8 68.9 97.4 34.9 71.01 998.1]| 1012.1 0.5 0.5 0.5 = = i
17 1.8] dtdkva 8.4| Jdtdkva 4.6 10.1 -0.6 46.3 65.2 30.0 63.5( 1007.8| 1022.1 0.0 0.0 0.0 = 5 5
18 2.5| dkdkvE 13.3 JkvE 5.7 11.9 1.5 57.2 80.0 32.4 61.5( 1005.3| 1019.5 0.0 0.0 0.0 = i i
19 1.6| FILE 8.2 bl i 4.8 10.5 -0.1 65.4 85.8 41.1 62.6( 1007.4| 1021.7 0.0 0.0 0.0 = 5 5
20 2.7 Jkve 13.7| Jkdkvs 5.1 10.9 0.0 67.0 93.8 32.4 63.9( 1005.6| 1019.9 0.0 0.0 0.0 i i =
21 3.6| dkdkrE 11.3 JkvE 3.2 7.5 -0.1 47.8 81.6 28.8 59.0( 1010.1| 1024.5 0.0 0.0 0.0 = s i
22 1.7 Jkve 8.4 JkvE 3.5 9.1 2.2 53.1 67.7 38.0 57.2( 1011.4| 1025.8 0.0 0.0 0.0 = i i
23 1.2| dkdkvE 5.3 JkvE 5.0 8.0 3.0 71.2 93.8 57.2 61.4( 1004.7| 1018.9 0.5 0.5 0.5 8] = =
24 3.8| vadLvE 23.4| dtdkvs 3.1 8.5 -3.5 64.2 85.5 35.5 62.21 991.8| 1006.0 0.0 0.0 0.0 = = i
25 3.6| dkdkrE 13.6 kv -2.1 2.7 -4.8 56.4 79.4 38.0 60.4( 1004.8| 1019.5 0.0 0.0 0.0 i 5 5
26 1.6 JkvE 12.2| vEdkvs 0.4 5.3 -4.3 56.5 69.7 44,1 59.2( 1007.8| 1022.4 0.0 0.0 0.0 = = =
27 1.1 ®ILH 8.4| dtdkvh 1.0 2.4 -0.3 89.0 97.7 68.0 68.0|1 996.4] 1010.7 0.5 1.0 3.0 = = =
28 3.0 JLvE 10.1| JkJkvs 1.1 4.7 -1.6 59.5 97.7 34.1 65.4 997.6| 1011.9 0.0 0.0 0.0 = i i
29 1.7 Jt.ve 10.1 Jkvh 1.6 6.0 -0.9 69.1 95.5 42.5 66.4( 1002.4| 1016.7 0.0 0.0 0.0 = = =
30 2.2 Jkra 9.8 [ii’] 1.7 5.7 -1.3 70.6 85.0 51.9 67.6( 1002.3| 1016.6 0.0 0.0 0.0 = 5§ i
31 2.0| vadkvE 9.2 bl i 1.6 7.1 -2.2 56.3 75.5 31.6 64.1( 1006.3| 1020.7 0.0 0.0 0.0 5 5 5

(e 2.0 Jt.ra 4.4 64.6 65.0( 1005.2| 1019.4

% e fE 12.8| Jkdtva 23.4| dtdkva 14.3 97.7 71.9( 1014.6| 1029.2 1.0 3.0 15.5

jamies 01/24 01/24 01/15 01/28 01/15( o01/22] 01722 o01/14| 01/13| 01/14

19:38 19:30 12:27 00:01 24:00] 08:53| 08:59( 11:30| 20:50
i KA 4.8 25.8 56.21 985.5| 999.4
falias 01/25 01/12 01/12] 01/24| 01/24
06:15 14:37| 24:00| 14:34| 14:34

EHEE 26.0

H % 0 17 5

RaEE ] | Jedtw | JbFE | "ILE R TR | MR | R | f | farvi | s | 7asane 75 wiltes | Jbe | JLdEd | e
% 9.5 2.3 2.9 12.3 7.5 2.4 1.1 0.7 0.7 0.8 0.8 1.0 2.1 12.1 20.4 19.5 3.9




